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QUESTION 1

An administrator determines that network traffic from the Network Pool is being fragmented. After the administrator
changes the MTU to 1600 on the physical equipment, traffic is no longer fragmented. Which Network Pool is being
used?

A. Isolated Organization Network

B. VLAN-Backed

C. vSphere Port Group-Backed

D. VXLAN-Backed

Correct Answer: D

QUESTION 2

An administrator is trying to create a new Virtual Reservation. The vSphere Endpoint is configured and functioning
properly.

What role and group is required in order to utilize a given compute resource when creating the Virtual Reservation?
A. The administrator must be an Enterprise Administrator in the correct Enterprise Group.

B. The administrator must be a Provisioning Group Manager in the correct Enterprise Group.

C. The administrator must be an Enterprise Administrator in the correct Provisioning Group.

D. The administrator must be a Provisioning Group Manager in the correct Provisioning Group.

Correct Answer: A

QUESTION 3

A vSphere administrator is attempting to migrate a virtual machine, but the progress bar for the migration remains at
10%.

Which issue could be preventing the vMotion migration?

A. A networking problem between the source and destination hosts exists at the physical layer.
B. The virtual machine is not on shared storage visible to the source and destination hosts.

C. The vMotion migration priority for this migration was set to High.

D. The vMotion network is saturated.

Correct Answer: A
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QUESTION 4

While creating a vCloud Automation Center Reservation, an administrator finds that the cluster resource
information is unavailable.

What is the most probable cause of the issue?

A. The endpoint inventory data collection has not completed for the cluster.

B. The administrator has insufficient permission to view the resource information.

C. The cluster is NOT part of the current security group specified in the reservation.

D. The endpoint is NOT connected to the Elastic Load Balancer.

Correct Answer: A

QUESTION 5

A new web application requires load balancing between two virtual machines. Where should an administrator create a
dedicated vCNS load balancer appliance?

A. vCloud Director

B. vShield Manager

C. vSphere Web Client
D. vShield Edge Client

Correct Answer: B
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